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254 M=2nx
M AN HE AE
e 2Z2HSIAIE &= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ESALIX BEYA XM 100,000 0 100,000
207 A F 0 | 100,000 0 100,000
01 gipgeyl 100,000 0 100,000
OZYATXZEAA AYUEN BYH FA 2
o 100,000, 000& 100,000
M METssR XM 900,000 0 900,000
S 400,000
< 400,000
Al 100,000
401 AlEHIZL 2 0HY| 900,000 0 900,000
S 400,000
== 400,000
Al 100,000
01 Al&H| 897,000 0 897,000
OMLHMBHSITH T8 ALY
897,000,000& 897,000
S 400,000
&< 400,000
Al 97,000
03 AlE 201 Y| 3,000 0 3,000
OBAMEHSDY T4 ALY
3,000, 000& 3,000
dEH=E 4 XA 11,270,885 7,679,828 3,591,057
= 350,000
Al 10,920,885
K548 E=E=Z0AH=US =& 2,831,038 0 2,831,038
== 250,000
Al 2,581,038
201 gEt2A | 1,769, 188 0 1,769, 188
& 250,000
Al 1,519,188
01 AP 2t 2| H| 36,000 0 36,000
OAREE & 228 2 10,000,000 10,000
OHAMEH |RAE=H| 7,000,000& 7,000
OEQIHMNE =XE = |
7,000 * 5% * 100€ 3,500
Zet =2 A LR 350,000& » 10€ 3,500
OMAESY Ar=tot HI& 3,000, 000& 3,000
OHINA =H| &= H& 3,000,000& 3,000
=AY L ALZAAG I H
1,000,000 * 33| 3,000
O=XAEENA IS0
5,0008 * 2008 * 33| 3,000
02 22244l 17,622 0 17,622
02222 2 HMA 3,000
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= K&

= oS

L WEHE K4 N

SA BB O () - MM - HES il
OofERza S 3,000,000& 3,000
oA =l 9,600
Odstitas 2,000& * 80Kg * 60AI2t 9,600
(COF=pE==, 5,022
oJlez 3003 * 62 * 4034 72
OME= 10,000& = 63| * 403 2,400
OADSLAI E = 40,000 » 3000 & 1,200
OHAANES 50,000& = 273 & 1,350
HAHZ S HI 1,715,566
ous =4l « 267,000
O gl 2,500& = 1,00000 » 2& 5,000
Otsl &g ety 8,000& = 5,000% 40,000
Ocl=& M& 1,500& = 15,0005 22,500
IAH 2,500& = 1,200% 3,000
oxngss: Y 1,500& = 3,00004 4,500
O0tADE godg 2,500,000 * 24l 5,000
OJIEtEE2E2 (sl A, HalA S)
600& = 10,0008 6,000
(OFSE= U=y} 50,000,000& 50,000
OE=ZHI(Tva 1) 70,000,000 70,000
OTME Jas M 20,000, 000& 20,000
Ost2& 44,0003 » 5008 22,000
O=2%d JH 4,000,000& 4,000
o=&8d 2 15,000, 000& 15,000
OFelArztel 85,310
O=&3% WM& 2,000& = 1,0000H 2,000
O=3& Y3 400& * 1,0000H 400
O3 (It&sZ 2X)
12,0002 = 1,0004 12,000
Ootlied s L 2teg3l 450,000 * 23] 900
OIS AMI 2 70,010,000& 70,010
OMHSIANES F=QAFA 790,000
Odstss A 90,000, 000& 90,000
OME 2 A ZIHEH A 700,000,000& 700,000
< 250,000
Al 450,000
oa=z=2s M= 137,250
(OF=3-3=1 3,000,000& * 30 A 9,000
OO0t 10,000,000& * 34 30,000
OJt271 25,000& = 1,20074 30,000
Ot 21 30,000& = 8004 24,000
OMEg=(4 2,000,000& = 24 4,000
omeg=z\ 500,000 * 2901 & 14,500




FAM: HENSDH
M MIHME AE
g4 d2Hs 84 XY
SA - ZE-B(EA) - NRAY - B S il &t o il
O=ozis 8 sag
6,000,000& * 204 A 12,000
O=2X& s=294(U) 200,000& = 304 6,000
OSHS HAU s (2)
50,0003 = 4304 2,150
Os=sY ZIIE Uals+2(s)
100,000& * 28JH 2,800
OZ=sY ZIIE g2 (a)
50,0003 * 2844 » 2& 2,800
O3l & NI EXE S M= 18,300
OWta o, 217, =321
1,000,000& * 37| 3,000
O3 =X & 300,000& * 24 600
OAlZHEX & 100,000& = 114 1,100
O=2J1E g (224, 5247)
3,000,000& * 274 6,000
O&J& &==9(i) 200,000& = 8K 1,600
OZJIE St 3,000,000& * 14 3,000
OUsaIIIE Sgaiatat 3,000,000& * 14 3,000
OZJI& oL EXI = X = 25,050
OdJE & CHUHEXIE  600,000& * 14 600
O&dJE ¢t EXI&# 150,000& * 2700 A& 4,050
OZJIE Yot EX
150,000& = 400 » 2704 & 16,200
O&=g ZJI& EX& 150,000 * 287H 4 4,200
OEHAE SUHAHA =& 82,000
Ogtgota 2 HY S84 22,000,000& 22,000
Oz AMIIESH 50,000,000& 50,000
O22 SUHHA(OME, XME)
10,000, 000 & 10,000
Oous & FXUH = 6,400
OFXE oty &2t
50,0003 * 2Z& * 2800 4 2,800
OCnsdss 7Y 50,000& = 284 1,400
Ooz2+¢ 1,000& = 10074 100
OWsotlsA X2 150,000& * 54 750
OXNHEREXE AEIH HA
50,000& = 3JH = 504 750
OHQUX & AITHII 100,000& = 2CH » 3 600
OFA & AWM = 21,902
OFALQA X)) L 2H472Y
20,000& * 507H 1,000
OEZENM=E 7 702,000& * 13 702
OEAEEZ+7Y 3,000, 000& 3,000




FAM: HENSDH
M MIHME AE
g4 d2Hs 84 XY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZ2=st&Ea AR ()
700,000& = 40 = 3 8,400
OZEBEY AX(E)
500,000& = 40 = 3 6,000
OcetLf & =2 M & 50,000 = 200 2800 A& 2,800
O=asSAgaze 5,000
O=93ags 2te3 500,000& * 23] 1,000
OSAgA Gt EX M
1,000& = 2,000% 2,000
Odsx=H &g 8% 50,000& = 400H 2,000
octa 2g 13,104
Octiths 29 10,000, 000& 10,000
O8=s+9 50,000 * 2801 A& 1,400
Oogs +2 ¢ otojAasA Xt
16,0003 = 28JHA = 32 1,344
Oxs +¢ 360,000 360
OTANEIHE 2 (sS4, SAIY) 2,350
O8l 4=t () 100,000& * 44 400
Ol =8 () 50,0002 * 9K 450
Osttg g2 iedge 500,000& * 1H 500
OS2IITEMHE 22 S
250,000& * 48 1,000
oOL-FL 2 EEZE MZEH 1,900
O8 =5 50,000& = 8 = 23| 800
O™ A 2l 110& = 5,00001 = 23l 1,100
O& A2l M= 10,000, 000& 10,000
OZXE & Z&FA &X 40,000,000& = 54! 200,000
OJIEt A2 SH| 50,000,000 50,000
202 odl 4,200 0 4,200
01 = LH o4 1l 4,200 0 4,200
OZQXHAE 2LHNb 20,0003 = 3% = 50¢ 3,000
O=A=Z Kl 50,000& = 3H * 2& * 43 1,200
207 &1 2yl 15,000 0 15,000
02 & AR b 15,000 0 15,000
OERMAE SHOIX 2= 15,000,000 15,000
307 21201 A 432,500 0 432,500
02 HIAFAAFEX 32,500 0 32,500
OHNb54sl TBIMAE = =23 =&l
30,000, 000& 30,000
O=E=T UM EItENs XN&  2,500,000& 2,500
04 DIZHHALALSE E X 400,000 0 400,000
OUSIEBILAH (SAR 2L, HBINES S)
400,000,000 400,000




= _ — d =
CHB - BI(BH) - NN - B 0l &t o il HImEET
ANEHI R 600,000 0 600,000
A& HI 600,000 0 600,000
OZS=SUMSUE Al JHLHI
600,000, 000& 600,000
AHebEH S H| 10,150 0 10,150
TR E S FH S 10,150 0 10,150
OENHAE &y 257 2,800
OoAxs =5 2,800,000& 2,800
O=ZJ1& 284 & I 257 7,350
O & 300,000& = 6H 1,800
[@XIPN; 150,000& * 6K 900
O&oa &§Xt 85,000& = 304 2,550
O ot 35,000& * 60H 2,100
dEME =4 23 1,461,872 822,120 639,752
2Bt Al 1,900 1,900 0
AtS 2t el ] 1,900 1,900 0
OAZHSHAMN 89 WA 1,500
ozzég 80,000& =« 103l 800
OAANTE 70,000& = 103l 700
A3 MSA AlA StE 100,000& * 43| 400
04 i 1,920 1,920 0
LH O H 1,920 1,920 0
OAZTHEUAMFTL ST HHI
20,000& = 3H * 4 » 8% 1,920
S 3,000 3,000 0
ANZEZ=XH 2 =AY 3,000 3,000 0
OAUZHAF=Z 2,000,000 2,000
OXMSAELSEA =& 1,000,000 1,000
gI2tol & 1,310,252 714,000 596,252
QIZFAMAIHE R 976,000 485,000 491,000
O&HEF=AXIFC X 350,000,000 * 13l 350,000
OFFAMHMSFZ X& At 621,000
OBZA 2464 BH2F
110,000,000& * 13 110,000
OBFN SHHLS L5EH
13,000,000& = 13l 13,000
OFFHNKESTG K&
13,000,000& = 13l 13,000
Os=zdsdz &4
320,000,000 * 13l 320,000
Od=ZHMsUHs &=d 70,000,000& = 13l 70,000




EM MERS
g MME &S

GHe: M2Eds 84 AH (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@i HRE2
Od=2Ad"Mds0ls &
40,000,000& * 13l 40,000
OMH ¥ &d=203 &=H
15,000,000& = 13l 15,000
OANZUe 9H0IctENS &=d
20,000,000 * 23| 40,000
O=ZHM=UFI AL 5,000,000& = 13 5,000
03 QIZEHY P ESIHIEX 334,252 229,000 105,252
OFFANMEE M= 29 334,252
OJl123(6Y) 193,478 ,560& 193,479
(OE= 31,640,330& 31,641
o= =4| 65,559,740 65,560
OgR=&H| 7,200,000& 7,200
O& R4 AH| 12,000,000& 12,000
O=LHAHHI| 3,000,000 3,000
oA 21,371,370 21,372
308 XAHXIGHH SO0l & 100,000 70,000 30,000
08 wW=EJl&otiseeE 100,000 70,000 30,000
OFFA 2+3UHSR 4N
100,000,000& = 13| 100,000
402 IV X201 & 44,800 31,300 13,500
01 QIZIX 2 AIEE X 44,800 31,300 13,500
OFFANMEIAIRZ &Y P2 44,800
OZFEH 1,400,000 * 204 2,800
OAl ME3d Rt 42,000,000 ~ 1CH 42,000
HFEAED HER2U3 8,000 5,000 3,000
307 QI2t0| & 8,000 5,000 3,000
04 CIZ2tSHALALS B = 8,000 5,000 3,000
OHM313 HE=AIZD| U3
8,000,000& * 13| 8,000
= | &0 EU3 8,000 5,000 3,000
307 2iz2to| A 8,000 5,000 3,000
04 OIZ2tSHALALS B X 8,000 5,000 3,000
O X233 H=AHEI EHU3
8,000,000& = 13l 8,000
HE=ANEI| HUALE 8,000 5,000 3,000
307 2Iz2to| A 8,000 5,000 3,000
04 SIZ2SHAAIH E & 8,000 5,000 3,000
OHMI383 HFAIEI HUAUS
8,000,000& = 13l 8,000
HFEAED S U3 8,000 5,000 3,000
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
307 212t01 & 8,000 5,000 3,000
04 QIZESHALAIE B2 X 8,000 5,000 3,000

OMZ28a EF=AAEI 223
8,000,000& 13 8,000

HEAED BHAEEZUF 15,000 10,000 5,000
307 212t01 & 15,000 10,000 5,000
04 DIZFSHALAIRI 2 = 15,000 10,000 5,000

OHMI183 HFAIEI EHAZWS
15,000, 000& 13 15,000

HFEAED HEHESZ2UI 18,000 15,000 3,000
307 212t01 & 18,000 15,000 3,000
04 QIZHSHAFAIRE 2 X 18,000 15,000 3,000

OM178 EBF=AED| HEYS=RU3S
18,000, 000& 13 18,000

HFANEI 2=U3E 8,000 5,000 3,000
307 QI2t0| ™ 8,000 5,000 3,000
04 QI2tSHALAIE E &= 8,000 5,000 3,000

OM13a HF=AIXI 2=U3
8,000,000 18] 8,000

HEANEI =03 8,000 5,000 3,000
307 QI2t01 ™ 8,000 5,000 3,000
04 QI2SHALAIE E = 8,000 5,000 3,000

OM138 HEF=AIEI =43
8,000, 000& 13] 8,000

HEAEI SZF 13,000 10,000 3,000
307 QI2t01 & 13,000 10,000 3,000
04 QIZHSHALAIE B2 X 13,000 10,000 3,000

OM128 EF=AXEI T3
13,000, 000& 13 13,000

HEAED BISUE 12,000 9,500 2,500
307 212t01 & 12,000 9,500 2,500
04 QIZHSHAFAIE 2 X 12,000 9,500 2,500

OMB8al HF=AMAI BISUSI
12,000,000& 13 12,000

HFEANEI HAAT XY 15,000 15,000 0
307 212t01 & 15,000 15,000 0
04 QIZHSHAFAIRHE 2 X 15,000 15,000 0

OHMB3 HEFAIEI HAAZIX[Y I
15,000, 000& 13 15,000
HF=AIED|] BH thal 13,000 10,000 3,000
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g MME &S

=

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 13,000 10,000 3,000
04 QI2bBHAIAIRI 2 = 13,000 10,000 3,000

OMB8al HFAMEI HHELUEUS
13,000,000& * 13l 13,000

EFAEI NEUS 8,000 0 8,000
307 glz2tol & 8,000 0 8,000
04 DIZFSHALAIRI 2 = 8,000 0 8,000

OFFAIXI WEUS 8,000,000& = 13l 8,000

EFANEI U3 8,000 5,000 3,000
307 glz2+ol & 8,000 5,000 3,000
04 QIZFHALAIH B = 8,000 5,000 3,000

OXNb5a HEF=AEI R0
8,000,000& =+ 13l 8,000

EFAEI 403 8,000 0 8,000
307 glz2tol & 8,000 0 8,000
04 QIZFHALAIH E = 8,000 0 8,000

OHEFAIRI S&UE 8,000,000& * 13l 8,000

HFAEI WMOIZ2U 3 8,000 0 8,000
307 21201 A 8,000 0 8,000
04 QIZFHALAIH B = 8,000 0 8,000

O&HEFAIZI MOIZ2UHE 8,000,000& = 13l 8,000

EF=AZEI| RS 8,000 5,000 3,000
307 21201 A 8,000 5,000 3,000
04 DIZFHALALSE E X 8,000 5,000 3,000

OHMb5sl HFAIEI iU
8,000,000& = 13l 8,000

FFAEI Z2=U3 8,000 5,000 3,000
307 21201 A 8,000 5,000 3,000
04 QIZFHALAIH B = 8,000 5,000 3,000

OM17al HF=AHEI 2=Us
8,000,000& =+ 13l 8,000

M= AL Mz XA 10,000 10,000 0
307 glz2+ol & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0

ONEZNM=HAX & 5,000,000& = 23l 10,000

=g 3 & THAMS iz 18,000 15,000 3,000
307 21201 A 18,000 15,000 3,000
04 QIZFHALAIH B = 18,000 15,000 3,000
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g4 d2Hs 84 XY (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0Z2% d= 2 oAl HA
3,000,000 = 63l 18,000
HIR==H 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
OM14sl 82 R==H 5,000,000& * 13l 5,000
H553 &I M= HE 283U E 60,000 60,000 0
307 glz2+0l & 60,000 60,000 0
04 QIZFHALAIH B = 60,000 60,000 0
OX553 2 &I d3HEAHd=2AUE
60,000,000& = 13l 60,000
EFAXNIHNHAATZ S A=A 60,000 70,000 A 10,000
307 glz2tol & 60,000 70,000 A 10,000
04 QIZFHALAIH E = 60,000 70,000 A 10,000
OHFXX ZHHAATX H4ANS
60,000,000 * 13l 60,000
H=AFANL=A S 15,000 30,000 A 15,000
307 gl2tol & 15,000 30,000 A 15,000
04 DIZHHALALSE E X 15,000 30,000 A 15,000
OHMb53 MIARALF=RACHS
15,000,000& * 13l 15,000
AR M= =. 0.0 3U3=s7U3 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 DIZHHALALSE E X 40,000 40,000 0
OHMosl AX 8= =.10.04 3CH3 =+70H 3l
40,000,000& = 13l 40,000
3 AIREU 200,000 200,000 0
< 100,000
Al 100,000
307 21201 A 200,000 200,000 0
< 100,000
Al 100,000
04 QIZFSHALAIR B = 200,000 200,000 0
02015 27 &=zl
200,000,000& * 12/ 200,000
< 100,000
Al 100,000
= g SELS MU 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
OHN49s 82 SELzd+=2UE
20,000,000& = 13l 20,000




254 M=2nx
M AN HE AE
GHe: M2Eds 84 AH (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
=2 HeloIZ2EUE EHU3 20,000 20,000 0
307 2iz2to| & 20,000 20,000 0
04 QIZ2tSHAFALS B X 20,000 20,000 0]
OM33 &= el SEUE Sia
20,000,000 * 13 20,000
S 2IE0US 8,000 0 8,000
307 2Iz2t0| & 8,000 0 8,000
04 SIZ2HSHAAIH E & 8,000 0 8,000
OFFANEI TU 2S0FRTH 3
8,000,000& = 13 8,000
HIAMHEAMN) M2 D 2E=UF 40,000 40,000 0
307 212t0| & 40,000 40,000 0]
04 SIZ2ISHAAISHE E X 40,000 40,000 0
©2015 EFJAMPEAM]) M= . H 20U 3
40,000,000& = 13| 40,000
AEREs I8 '4 6,051,975 5,317,708 734,267
201 et 189,442 177,257 12,185
01 AP 2t 2] H| 61,080 53,280 7,800
OSSE HEXNY AN
720,000& = 704 ~ 12& 60,480
o2S® = L 2 25 4+
60,000 * 10H 600
02 2224 128,362 123,977 4,385
OEAESESHIIE =489 60,900
o&I2 90,000 = 10 * 12& 10,800
OEZAIJIAE 19,200
ozeldl 240,000& * 10 *» 12& 28,800
OFpl = 2,500& * 10 ~* 12& 300
O4dtx=kz 50,000& = 35 x 12&€ 1,800
OHHAEZ dEHEH &9 3,120
[OrspIN: 250,000& » 12€ 3,000
O&slx=xz 2 10,000 * 12& 120
Ost=4a A AHWZ H| 3,000,000& * 65= 18,000
OFMNE=SA HEH| 2,234
OaUss 1,396 * 2004 = 2004 * 44 2,234
O Hagl(gd=2, 3, ZIAAEL) 2,513
OaUss 1,396& * 2004 = 3 = 38 2,513
oss dEXY HA=H|
1,750 = 74 = 20 = 100H ~ 128 29,400
oss dEXNHE ANsSKHA 165,000 = 3CH 495
os2ss NS BEE= 800,000& * 3CH 2,400




2A: Msnxt
M ASHE &=
@2 ME2NE 84 N (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Ocsdsiy BdNd=ga
50,000& * 3CH + 23] 300
O=4 RANE 300,000& * 10JH & 3,000
OSME=SA(SE2ESHUY) 2222 (&,
<) 6,000,000 6,000
202 04| 2,426 2,426 0
01 24018l 2,426 2,426 0
ONFSSHIIL 29 U USEH AT Of
Hl 75,800 * 2% * 82 * 23] 2,426
206 M = Hl 396,050 292,657 103,393
01 M= bl 396,050 292,657 103,393
oOL=ZR 2SS L &l 57,200
gst=E2 55 200,000 * 65 * 6YH 7,200
O3stare 19& 40,000& * 258 * 508 50,000
os4MdR =2 L ZIES 19,000
OFcld 2 55 200,000& * 65 * 109 12,000
OOL0tetEsH?l 558 100,000& = 7& » 108 7,000
OEdHR 2¢ L FIIES 42,000
OYst=2l 4& 200,000 * 65 * 74 8,400
OEceiste 5& 800,000& * 65 » 78 33,600
O0OZLR E2ds8E ¢ &l 37,200
OEE2 5& 200,000& * 68 * 11Y 13,200
O=&2 105 40,000& = 128 * 508 24,000
OHAEZSR =28 & FIles 33,600
ogst=2l 55 200,000& * 65 * 109 12,000
OHAZ=2 103 60,000& * 128 = 30& 21,600
ONZEIOZR 228 L FIIES 15,850
OFclde 75 200,000 * 8& * 6YH 9,600
O&J13e 38 25,000& * 58 = 50& 6,250
OFMAANZER =& L &I 46,800
OMZBER 75 200,000%® * 8& * 8YH 12,800
AELQl 155 40,000& * 178 * 508 34,000
OWXAE=ZE EHE E IS gl 58,400
ogst=2l 5& 200,000& * 65 * 74 8,400
O3tatel 195 40,0008 * 258 = 508 50,000
OUBIANHRE EFE 2 A 86,000
OANA=2| 45 200,000& * 5& * 129 12,000
O&AE? 315 40,000& » 378 * 50& 74,000
301 dBEtE A= 5,461,307 4,804,568 656,739
Vo=t - 2sESE24=2 5,461,307 4,804,568 656,739
osse Ha(de) 3,446,400
ozs 60,000,000& = 39H 180,000




2N

=

H=sus

M ASHE &=
el M2XS 84 KW
S HB B (SH) - NRAMY - BAS O 4t o8 il
OoZ= 54,000,000& * 6Y 324,000
O=2X 51,000,000& * 1& 51,000
O=Z X 46,800,000 * 1 46,800
OEdolyd 38,400,000& * 1& 38,400
(@ kS 63,000,000& * 29 126,000
OH = 53,400,000& * 5Y 267,000
Od % 44 400,000 * 10¥ 444 000
OH = 40,800,000& * 34Y 1,387,200
O 32,400,000& * 5H 162,000
OH = 46,800,000& * 4H 187,200
O = 43,200,000& = 3H 129,600
OH = 33,600,000& * 294 67,200
Ol E 2ddH2
500,000& * 69 = 12& 36,000
ONE2sHEIR Edrd 44 400
ozs 300,000& * 9% x 12& 32,400
O=2ZX 150,000& = 6Y = 128 10,800
OEd oY 100,000 = 19 x 12&€ 1,200
O2ss 29| 1,246,200
Oz 4] 540,000& * 784 * 12& 505,440
O==t]| 35,000& = 788 = 12& 32,760
O2tAlH] 25,000 = 78"¥H * 12& 23,400
O& X =&hl 70,000& = 78Y * 302 163,800
O3 =&l 60,0008 = 78 = 103 » 6L 280,800
ozsd A 1,000,000& * 40¥ x 63 240,000
ORed g HAZ 100,000, 000& 100,000
oOzdEAX=H| 6,960,000 6,960
OMEE= S 18,000 * 789 = 128 16,848
OodiAdX = & &M&HdHI| &It
15,000,000& * 13| 15,000
OMAUE L =HUE EFOt
15,000,000& * 13| 15,000
ONBLSEAIR AEH=NNE 29
1,000& * 900P * 78YH 70,200
OXNE2EHIIE MXNHH B2 500,299
O&&AZ 3,200,200,000& * 1/12 266,684
O=30d=82=2 3,200,200,000& * 4.5% 144,009
Oolnssggsgsde 3,200,200,000& * 1.3% 41,603
OMgMlEAaEs S
3,200,200,000& * 1.5% 48,003
405 XHHE S HI 2,750
01 XL 2 FF S| 2,750
(OF=R==g =g gel 2,750




2N
X ZH -
L= B

el

=

H=sus
AIHE &S
d2Hs 54 N

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OdE 2,500,000& « 1CH 2,500
(OF=FE~p)| 250,000& * 1CH 250
K302 HEEIl AlILIO S U3 10,000 0 10,000
307 glz2tol & 10,000 0 10,000
04 DIZHHALALSE E X 10,000 0 10,000
ORM303 HHEEI SE!UI(AMLIAR)
10,000,000& * 13l 10,000
A2 AL 98,000 50,000 48,000
307 gl2tol & 98,000 50,000 48,000
04 DIZHHALALSE E X 98,000 50,000 48,000
o=t ALZTE M= (3 &)
49,000,000& = 14l 49,000
OUESEESAAI M= AAUSE
49,000,000& = 14! 49,000
4= =S8 EHEE el 100,000 0 100,000
307 21201 A 100,000 0 100,000
04 QIZFHALAIH B = 100,000 0 100,000
©2015 EH 22| d=2x=5st B
HE 3 100,000,000& * 13 100,000
SI2MESRU d303 20,000 0 20,000
307 21201 A 20,000 0 20,000
04 QIZFHALAIH B = 20,000 0 20,000
OHM143 =HS20 Hd=Uz2
20,000,000 = 13l 20,000
3.18 tt=0tctEUS 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
04 RIZFHALAIH E = 20,000 20,000 0
O3.18 &= DtAEUS 20,000,000& = 14 20,000
FHOME 4 XA 437,949 366,719 71,230
ZOHQ M= 243t 326,949 277,719 49,230
307 21201 A 290,114 255,079 35,035
02 QB HAANGEEE 126,500 98,000 28,500
OZMAM=E =M= 6,000
OZMAMENM=SSE 2SNE 32,500
OE R (AI2EE0HOI) 250,000& = 103 2,500
Oomasz=(aX) 250,000& = 10 2,500
OtieEgle(3<eal) 200,000& * 10 2,000
Ot S 21 & (BMW) 200,000& = 103 2,000
Os=(#=FaX) 200,000& = 10 2,000
OHOIEZE(#SR) 200,000& = 103 2,000




CHE - EI(BA) - NRAY - BYS

Oeclgrol(ega=2) 200,0008 * 102 2.000
O XI0F(ChAFR!) 200,0008 * 10" 2,000
OBIA (M ZH A ALZ) 200,0008 * 102 2,000
OO (ATLE) 20,0002 * 102 2,000
ostR(B=2) 200,0008 * 102 2,000
osg(zsal) 150,0008 * 102 1,500
OMIBIE(HFIHA) 200,0008 * 108 2,000
Oga(EFEX) 150,0008 * 102 1,500
OFOfI S (CIHZ) 150,0008 * 108 1,500
ONOIEZ (X X) 150,0008 * 102 1,500
ONEER(HFLH) 150,0008 * 10" 1,500
OO =PWA 2  25,000,0008 * 1A 25,000
OR9E HIFOYSMHSNE X
7,000,0008 * 13] 7,000
o738 oiSUMSH =X
5,000,0008 * 13] 5,000
OE==0t2 BOISHSHS EX
5,000,0008 * 13] 5,000
O35 HIFOUMKHS =&
20,000,0002 * 13| 20,000
o125 HIFOHO SHAKHS =&
3,000,0002 * 13| 3,000
ON9E E=SENOIBIIS MEXSHS EH
15,000,000 * 13| 15,000
OF20Y5 It EHG| 8,000,0008 * 13| 8,000
0B RZEHYESA X 163,614
OHZA HOUHSE 29 163,614
07122 (3%) 95,431,680 95,432
o%g 11,596,740 11,597
CEEEYT] 33,856,920 33,857
CEEES] 7,200,000 7,200
OO0l 1,000,000 1,000
ogere o 14,528,000 14,528
402 DI G20 E 36,835
01 AT EAAE S 36,835
OXOjO MEBISZY =y X 27,065
oze 1,550,0008 * 13] 1,550
osz 2,255,0002 * 13] 2,255
Oticolie 4,018,0008 * 13| 4,018
5! 1,980,0008 * 13] 1,980
0%+ 2,185,0008 * 13| 2,185
oNolES 2,070,0008 * 13] 2,070
onazo 2,507,0002 * 13| 2,507

=

i
2m
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=

= SmE= '
as
CEWAMS B4 XE

3:dw)
= _ — d =
SA - B (SA) - MRAY - BYS e 2
Os+ 1,795,0008 = 12 1,795
OZ MO0 & Al 1,848,000& = 13 1,848
OB Xl ot 2,050,000& = 12 2,050
O8d 1,100,000& = 12l 1,100
og+ 1,467,000& = 13 1,467
O M=t 2,240,000& = 12 2,240
XM= =5 9,770
OdD| 2,200,000& » 104 2,200
O E = 1,400,000& = 104 1,400
OXME(AR4) 140,000& * 24 280
OMF (I &) 460,000& = 20H 920
OMEE X 330,000& = 504 1,650
Oz & 619,500& = 2K 1,239
Oszlog dols 290,000& * 1H 290
OoszlaE 2X 85,000& * 74 595
O4 It 115,000& * 74 805
OAIEIOIZ 258,000& = 1H 258
O&sH 133,000& * 14 133
EFAIEH BOHQ I 2 ==Y 8,000 0 8,000
307 21201 & 8,000 0 8,000
04 QIZFHALAIH E = 8,000 0 8,000
OHM12l H==AlZbH J=ZH 2l
8,000,000& =+ 13l 8,000
EFAEI ZOHel MEH 3 8,000 ,000 2,000
307 glz2tol & 8,000 ,000 2,000
04 DI2HHALALSE E X 8,000 ,000 2,000
OMe6al HFAZFII s g§103
8,000,000& =+ 13 8,000
EFAEI il MEH 3| 8,000 ,000 2,000
307 BI2HO| & 8,000 ,000 2,000
04 BIZHHALAIH 2 & 8,000 ,000 2,000
OHM7a H=AZEII s 2203
8,000,000& =+ 13 8,000
FFANEI HFHASFAUS 8,000 ,000 2,000
307 glztol & 8,000 ,000 2,000
04 BIZHSHALAIRH 2 & 8,000 ,000 2,000
OMb53 HFAEI HOHQ ZFUE
8,000,000& = 12 8,000
FFAEI 28 BHELEW 8,000 6,000 2,000
307 glztol & 8,000 6,000 2,000




EMHF
= AIMNS

=
el ZHAME 54 X2

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 QIZFHALAIH E = 8,000 6,000 2,000
OXN6sl HEF=AIEI (I=EHHE=EEHE
8,000,000& =+ 13l 8,000
EF=ANEI ZOHAAHOIE=ZHE 8,000 6,000 2,000
307 g2+l & 8,000 6,000 2,000
04 DIZHHALALSE E X 8,000 6,000 2,000
OM32 HFAHEI HHANOESUHS
8,000,000& * 13l 8,000
AT d=F0e BHECIEWS 20,000 19,000 1,000
307 gl2tol & 20,000 19,000 1,000
04 DIZHHALALSE E X 20,000 19,000 1,000
OHM62l XX H=Z0Hlb =2 E S
20,000,000 * 13l 20,000
AN d=2Z0H E=U2 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
OMb52 HXH d=FHHAE2UH3
20,000,000 * 12/ 20,000
X HIHOHAEHMAHY Hd=AH3 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 QIZFHALAIE B = 15,000 15,000 0
OHM4z HXHH d=2xM0oda d=20Uz2
15,000,000 = 13l 15,000
A =20 =d NEHMH =AU 8,000 5,000 3,000
307 21201 A 8,000 5,000 3,000
04 QIZFHALAIH B = 8,000 5,000 3,000
OHM6sl HX 2D EH NEFMHASAU
3 8,000,000& =+ 13l 8,000
MEH s 2435 3,594,779 3,581,897 12,882
J| 458,496
< 105,058
Al 3,031,225
AEZHIRHAMY X 255,978 233,491 22,487
J| 179,184
< 38,397
Al 38,397
301 et d = 255,978 233,491 22,487
J| 179,184
= 38,397
Al 38,397
01 MEIBZE 06z 255,978 233,491 22,487
OAZ=2AH 0/ K& 63,994,500& * 43 255,978




AN HELSH
= AIMNS

[yl
0 0loh

el MENS 28 (29 a8)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
J| 179,184
= 38,397
Al 38,397
&L MM EH = X & XU X 331,344 331,344 0]
J| 157,872
& 4,680
Al 168,792
307 2iztol A 331,344 331,344 0
J| 157,872
& 4,680
Al 168,792
02 QIZ2IA AAIE E X 331,344 331,344 0
OYetME NS Xl = XHHH Xl 82,836,0008 * 43| 331,344
J| 157,872
= 4,680
Al 168,792
HEAMAM ME M=K = XHEH X 254,880 254,880 0
J| 121,440
o= 3,600
Al 129,840
307 QI2t0| ™ 254,880 254,880 0
J| 121,440
=} 3,600
Al 129,840
02 IZHB AAIE 2 X 254,880 254,880 0
oz Al ME =X & Xl X
63,720,000 * 43| 254,880
Dl 121,440
= 3,600
Al 129,840
AN MEH =X X X 27,936 55,872 AN 27,936
= 8,381
Al 19,555
307 QI2t0| ™ 27,936 55,872 AN 27,936
& 8,381
Al 19,555
02 AI2tAMAIE E =X 27,936 55,872 N 27,936
OFE==ME M =X = XA X
6,984,000& * 43| 27,936
o= 8,381
Al 19,555
MEH=E 4 & 225,920 120,716 105,204
201 et 9| 1,400 1,296 104
01 AP 22| d| 1,400 1,296 104
OMBRSALEE S
7,000 * 49 « 50 1,400




AN HELSH

M MIHME AE
Chel: M s 2435 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
202 o4dl 1,920 1,920 0
01 = LH o4 1l 1,920 1,920 0
OMEBRSALEA oYl
20,0003 = 3% = 4 « 83| 1,920
307 g2+l & 222,600 117,500 105, 100
02 It HAHEE 222,600 117,500 105, 100
OHM253 =ESE MEHsUe =d
85,000,000 * 13l 85,000
02015 EEST XM ¥ SHESEI dEH=s
S=2EU3 & 27,000,000& 27,000
©2015 M&H=s S8 d=20s &
10,000,000& 10,000
©02015 =9 MU a2 X(33)
10,000, 000& 10,000
OHM108 SHEE 24 Medsls &N
15,000,000& * 13l 15,000
OHM8al E=HLMEMIUS =&
8,000,000& =« 13l 8,000
ON163 SHESZMEMSUIEH 2ULHR0E
ols7is A 2,000,000 * 13l 2,000
02015 S=ENSHLH =H
8,000,000& * 13l 8,000
OMENMSXEX 24
200,000& * 24%x 12 57,600
HEHSE 2 N 520,269 448,542 71,727
307 gl2tol & 450,769 448,542 2,227
03 BIZIEHHEE 2ZHIEX 450,769 448,542 2,227
OFZANMEXNES AR=2 29X 450,769
oJea(7y) 148,668,000 148,668
OE= 109,776,340& 109,777
O=cl=4dl 104,040,950 104,041
OgRF4&l 7,200,000 7,200
Oget3l 72,082,710& 72,083
Ol 9,000,000 9,000
QI2tXt201 & 69,500 0 69,500
QIZEXI2AIS E X 69,500 0 69,500
OHEFA HEH=FS AMRZR AIRE &I 69,500
OHA(E) 300,000& = 204 600
O A& () 250,000& = 114 2,750
ONEE(T) 200,000& = 134 2,600
O (=) 300,000& = 24 600
O R () 150,000& * 110 1,650
Ozle=gHols 250,000& = 24 500




=

CHsUsY
ARSI

g A
0 0loh

D MES St )
- _ _ RE]
SA BB (SH) - NRAY - B %@i 2t
oges oKX 100,000& = 134 1,300
OIEl & 100,000& = 304 3,000
OB EH 1,300,000& * 5CH 6,500
===l 2,000,000& = 204 4,000
OR &) 300,0008 * 20CH 6,000
O3lHE=Z]H 40,000,0008 = 14! 40,000
MEHE ASIAUSE AL 292,702 266,202 26,500
307 2Iz2t0| A 292,702 266,202 26,500
02 QIZHEAAIRE E X 292,702 266,202 26,500
©2015 Hold|ctet s 2 WA 10,000,000 10,000
ORVUHT BENFASHEH 2Y
23,202,000 23,202
©2015 MEHSLNA 29 253,500,000& 253,500
©2015 (HE0IMs A 2 (3MA)
6,000,000& 6,000
HFANHEIH) MEHE SSEUHS K& 42,000 30,000 12,000
307 QI2t0| & 42,000 30,000 12,000
04 CIZ2tSHALALS B X 42,000 30,000 12,000
OXFTAHESAD MEHESE=2Y Wal(318])
42,000,000 42,000
MEH ALK 50,000 50,000 0
307 giztol A 50,000 50,000 0
04 CIZ2tSHALALS B X 50,000 50,000 0
OMEMS AKX (POOL)
5,000,000& = 103 50,000
AXH MEM=E A2HLUAULS 30,000 10,000 20,000
307 2iz2to| A 30,000 10,000 20,000
04 DIZFHALAIRIE & 30,000 10,000 20,000
©2015 X MEY=R M2HL AU
30,000,000 * 13 30,000
X &= 0l=H L AS 7,000 6,000 1,000
307 2Iz2t0| & 7,000 6,000 1,000
04 SIZ2HSHAAISH E & 7,000 6,000 1,000
OHM23 XUl M= E=20=HLAUHS
7,000,000& = 13 7,000
HEANEH & Z00MEHNSF (-2 35,000 35,000 0
307 2I2t0| ™ 35,000 35,000 0
04 SIZ2SHAAISHE E X 35,000 35,000 0
OM13 HFAEGH 2CIMEHE |-2120(63])
35,000,000& 35,000
HFEANEYD MEH=E S2US 12,000 13,000 A 1,000




AN HELSH
= AIMNS

g A
0 0loh

cel: MBS 243 GEERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 12,000 13,000 21,000
04 QI2bBHAIAIRI 2 = 12,000 13,000 1,000
OHM23 HFANZI HEHE =203
12,000,000& * 13l 12,000
EFANEI MEHM=E ANOE2UHE 6,000 4,000 2,000
307 glz2tol & 6,000 4,000 2,000
04 DIZFSHALAIRI 2 = 6,000 4,000 2,000
OHM1g HFAMEI HEH=E ANESUHE
6,000,000& = 13l 6,000
AN MeEds &30S8 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
OHM2sl HFAZEI| MEHME U
10,000,000& * 13/ 10,000
FFANEI HEH=E S 6,000 4,000 2,000
307 21201 A 6,000 4,000 2,000
04 DIZHH A AL 2 X 6,000 4,000 2,000
OHM2sl HFAEI HEME SI=UH
6,000,000& * 13l 6,000
AN MEXH= HAHLULALSE 6,000 4,000 2,000
307 21201 A 6,000 4,000 2,000
04 QIZFHALAIH B = 6,000 4,000 2,000
© W23 HFATH HEM=s HHELIAT
6,000,000& * 13l 6,000
EFANTH MEME 20LdU 6,000 5,000 1,000
307 glz2+ol & 6,000 5,000 1,000
04 QIZFHALAIH E = 6,000 5,000 1,000
© H2a HFAZH MEH=s S2CLIUHS
6,000,000& * 13l 6,000
EFANEI MEH=S O3 10,000 5,000 5,000
307 glz2tol & 10,000 5,000 5,000
04 DIZbBHAIAIRI 2 = 10,000 5,000 5,000
OHM23 HEFAZI| HEH=F k20
10,000,000& * 13l 10,000
EFANEI dEHS S0 8,000 10,000 A 2,000
307 gl2tol & 8,000 10,000 A 2,000
04 DIZHHALALSE E X 8,000 10,000 A 2,000
OHM1g HFFAFI HEHF S2UH
8,000,000& = 13l 8,000
FFANEI dEHsE Jt2E==03 6,000 9,000 A 3,000




=
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g A
0 0loh

= 3t

SN BA(SA) - MRAY - BES il HImEET
307 glz2tol & 6,000 9,000 A 3,000
04 RIZFHALAIH E = 6,000 9,000 A 3,000

OHM1a HFAZI H2Hs Jc2==Z0UHS
6,000,000& * 13l 6,000

EFANEI MEH=S M 6,000 9,000 A 3,000
307 glz2tol & 6,000 9,000 A 3,000
04 QIZHHALAIRI 2 & 6,000 9,000 A 3,000

OHM1a HEFANEI HEHSE U
6,000,000& = 13l 6,000

FFANEI M= IHef2ct0IZHal 8,000 7,000 1,000
307 gl2tol & 8,000 7,000 1,000
04 DIZFBHALAIRI B = 8,000 7,000 1,000

O HM23 HEFAEI MEME HAS2A0IZH
2 8,000,000& = 13l 8,000

FFANEI HEHE dUAHE 8,000 10,000 A 2,000
307 21201 A 8,000 10,000 A 2,000
04 QIZFHALAIR B & 8,000 10,000 A 2,000

OM1sl HFAIEI MEM=S HLUAME
8,000,000& * 13l 8,000

EFANEH M| 72U 6,000 5,000 1,000
307 21201 A 6,000 5,000 1,000
04 DIZFEHALAFRI 2 & 6,000 5,000 1,000

OXN2sl HEFAIZH MEH=s U2
6,000,000& * 13l 6,000

EFANEI MEHE BHECIEHWS 12,000 10,000 2,000
307 glz2+ol & 12,000 10,000 2,000
04 QIZFHALAIH E = 12,000 10,000 2,000

OM22 HEFAHEI HEHMS HELEHU S
12,000,000& = 13l 12,000

EFANTH MEH=S S U 6,000 5,000 1,000
307 glz2tol & 6,000 5,000 1,000
04 DIZHEHALAFRI B & 6,000 5,000 1,000

OM12 EFAEHH HEMS U3
6,000,000& = 13l 6,000

BFANEI dEM=Es MU 6,000 5,000 1,000
307 gl2tol & 6,000 5,000 1,000
04 DIZHHALALSE E X 6,000 5,000 1,000

OM1E FFAMEI HEHs U
6,000,000& = 13l 6,000
FFANFI MEHs =W 6,000 0 6,000
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g A
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Cel: MEBXK 243 (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 6,000 0 6,000
04 RIZFHALAIH E = 6,000 0 6,000
OHM1a HFAZI HEHE 2 =U
6,000,000& * 13l 6,000
EFANEI dEH=E s72UHE 6,000 0 6,000
307 glz2tol & 6,000 0 6,000
04 DI2HHALALSE E X 6,000 0 6,000
OHM13 HFANEI MEHS s2US
6,000,000& = 13l 6,000
FEAMAEAY HESO2tEW S 220,000 187,000 33,000
307 gl2tol & 220,000 187,000 33,000
04 DIZHHALALSE E X 220,000 187,000 33,000
OMN13s FHAMAN HHSOIHEWS
220,000,000& * 12/ 220,000
FAMPAUH MIER03S 45,000 45,000 0
307 21201 A 45,000 45,000 0
04 QIZFHALAIR B & 45,000 45,000 0
OXN3s HIAMA/E M2 SR
45,000,000& * 13l 45,000
AT MEME dIECEUS 40,000 0 40,000
< 15,000
Al 25,000
307 21201 A 40,000 0 40,000
< 15,000
Al 25,000
04 QIZFHALAIH B = 40,000 0 40,000
OHM1a XU d= HEXM=s H=S S U
40,000,000& =+ 13l 40,000
= 15,000
Al 25,000
HEgll d32=57&0tY 250,000 0 250,000
307 glz2+ol & 250,000 0 250,000
04 QIZFHALAIH E = 250,000 0 250,000
OXNb5s HsdI| 835 0E
250,000,000& = 13l 250,000
METE FFAQ AZZIIHHE 20,000 17,100 2,900
307 glz2tol & 20,000 17,100 2,900
04 QIZFHALAIH 2 = 20,000 17,100 2,900
©2015 MM = H2Ae 222IH3
20,000,000 * 13l 20,000
EFA MEHSUHE 95,000 130,000 A 35,000
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cel: MBS 243 (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 95,000 130,000 A 35,000
04 RIZFHALAIH E = 95,000 130,000 A 35,000
OHM23 HFA MEMIUHI
95,000,000 * 13l 95,000
MEXE EFAQ HEAHEDITE 16,000 16,000 0
307 glz2tol & 16,000 16,000 0
04 DI2HHALALSE E X 16,000 16,000 0
©2015 MEHE FFAL NHEHEIIHS
16,000,000& * 13l 16,000
A MEHSHAHZE SOESH 8,000 6,000 2,000
307 gl2tol & 8,000 6,000 2,000
04 DIZHHALALSE E X 8,000 6,000 2,000
OHM28 HEFA dEMSHAZE SO =H
8,000,000& = 13l 8,000
NAIEZEHEA 30,000 0 30,000
307 21201 A 30,000 0 30,000
04 QIZFHALAIR B & 30,000 0 30,000

30,000,000& * 13l 30,000
S4& HE0l OtetEHS 40,500 40,500 0
307 glztol & 40,500 40,500 0
04 QIZ2HSHALALE B £ 40,500 40,500 0
OM112 S4E H=20I0tctE el
40,500,000& = 13 40,500
AEETARED] JFE AL 35,100 35,100 0
307 21201 A 35,100 35,100 0
04 QIZHHALALE B £ 35,100 35,100 0
O M58 AtEIH D] JPH ok
5,100,000& = 12 35,100
KX 2&0tet=n 2 100,500 40,500 60,000
& 30,000
Al 70,500
307 21201 & 100,500 40,500 60,000
& 30,000
Al 70,500
04 QIZHHALALH B £ 100,500 40,500 60,000
OFF KIX2& Ot ES
100,500,000& = 12 100,500
S 30,000
Al 70,500

stotS&2 71t 8l 70,000 40,500 29,500




AN HELSH
= AIMNS

g A
0 0loh

Helr dEds st (&)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 70,000 40,500 29,500
04 RIZFHALAIH E = 70,000 40,500 29,500
OHM 153 &0tg Z2JI1&  70,000,000& * 13 70,000
MEA sMdd Rad 20 20103 37,800 37,800 0
307 21201 A 37,800 37,800 0
04 QIZFHALAIH B = 37,800 37,800 0
02015 MEA=MAZ A ZUHEZIIU3E
37,800,000 * 13l 37,800
Selagad JE2Z0IUs 37,800 37,800 0
307 glz2+ol & 37,800 37,800 0
04 QIZFHALAIH B = 37,800 37,800 0
OXN9sl Zelagdd J=E2II1U3
37,800,000 * 13l 37,800
X A= MO0IZ2H 3 80,000 85,000 A5,000
307 glz2tol & 80,000 85,000 A5,000
04 QIZFHALAIH E = 80,000 85,000 25,000
©2015 2 X & =MOIZ2U 2
80,000,000 * 13l 80,000
X AE 201 A 28,350 28,350 0
307 gl2tol & 28,350 28,350 0
04 DIZHHALALSE E X 28,350 28,350 0
©2015 HXAE 2ot
28,350,000& * 13/ 28,350
AN A== U3 35,100 35,100 0
307 21201 A 35,100 35,100 0
04 DIZHHALALSE 2 X 35,100 35,100 0
OH8sl X d=2=22U3
35,100,000& * 12/ 35,100
SEAFEE U 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 QIZFHALAIH B = 30,000 30,000 0
OM12e ¥FHESEIE S=2SHEE AU
30,000,000& * 13l 30,000
EMEZIIUE 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
O2ESHEZIIUS 20,000,000& * 12l 20,000
X AIZaa 40,000 30,000 10,000
307 21201 A 40,000 30,000 10,000




EM MERS
= AIMNS
oo MEHS

g A
0 0loh

st

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 QIZFHALAIH E = 40,000 30,000 10,000
OXM2s XX d==Z&0Uz2
40,000,000& =+ 13l 40,000
ANY MEHMSEHM LS 48,600 48,600 0
307 g2+l & 48,600 48,600 0
04 DIZHHALALSE E X 48,600 48,600 0
OHM6a X MEMs gUHH2HE
48,600,000& * 13l 48,600
NAZINS & D18 FF4FALZIIU= 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
©2015 MAIZII2 & D18 FHPAL 2010
3 20,000,000 * 13l 20,000
FEAMAME I =z 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
©2015 FAMIMH M=ZoU3
0,000,000& * 12/ 20,000
S5 dEHS0FRUS 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIE B = 10,000 10,000 0
OS2 MEXNS0oF2UHE 10,000,000& * 13l 10,000
sE=23C HEH 10,000 0 10,000
< 5,000
Al 5,000
307 gl2tol & 10,000 0 10,000
< 5,000
Al 5,000
04 DIZHHALALSE E X 10,000 0 10,000
02015 =&Y HEZF 10,000,000& = 13l 10,000
< 5,000
Al 5,000
zEs UsESMHE N& 34,677,910 34,442,238 235,672
< 10,077,764
Al 24,600, 146
=5 wsEHE N 34,677,910 34,442,238 235,672
< 10,077,764
Al 24,600, 146
WEHA KA 4,483,500 5,867,000 A 1,383,500
308 XX EHSOIA 4,453,500 5,437,000 983,500
08 WEIIZ20HStE = 4,453,500 5,437,000 A 983,500




254 M=2nx
B 23S DENE X
H: x5S UEME I (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OsatEgttssty) 2 NESNHAESH X2 (470
w) 900,000,000 900,000
Ox=EES204a 29 (7HR) 182,500,000 182,500
OGN ME DA 2 (290HA) 130,000, 000& 130,000
OoidEHME X 1,500,000 » 100™H 150,000
oxnsg=sgl K& 100,000,000 = 3JH 300,000
OO0l AHD X 200,000,000& * 11 200,000
OstnWEEAHIMA A (POOL) 750,000,000 750,000
OUSHUWAANSALX (2HES HEx EZ
=) 1,841,000,000& 1,841,000
402 BI2H X201 M 30,000 430,000 A 400,000
01 QIZEXIE2AIE 2 X 30,000 430,000 A 400,000
OE=0s D WEATA N
30,000,000& * 1A 30,000
stpngal X 25,194,410 25,543,962 A\ 349,552
& 10,077,764
Al 15,116,646
308 XX SHHSOIA 25,194,410 25,543,962 A\ 349,552
o= 10,077,764
Al 15,116,646
08 m=sJl&otistEx 25,194,410 25,543,962 A\ 349,552
O=x,5,E4st) 2434 X
25,194,410,000& 25,194,410
= 10,077,764
Al 15,116,646
XEA stpngal XA 5,000,000 2,970,890 2,029,110
308 MXISHMSOIA 5,000,000 2,970,890 2,029,110
08 I 20 HstE = 5,000,000 2,970,890 2,029,110
oA NIZAH XN (S,=,5,1,5)
5,000,000,000& 5,000,000
HAEAY 4,305,838 5,598,806 AN 1,292,968
= 273,600
J| 540,366
& 199,774
Al 3,292,098
HAaU=sH 2,775,766 4,153,975 N 1,378,209
= 31,600
J| 35,560
&< 24,220
Al 2,684,386
HAE AN K& 288,640 190,197 08,443
201 2Et2Ay| 34,874 25,588 9,286
01 AP 2t 2] H| 8,254 7,168 1,086
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2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al I 28I 35,500 100,000 A 64,500
01 A& HI 35,500 100,000 A 64,500

OBALUNSENME 4 SSHER
5,500,000& 5,500
OFAESEHEY DEES(SEH) AAEFZY &
2= 30,000, 000& 30,000
405 XHoHF S HI 24,600 3,900 20,700
01 AL EZFH S 24,600 3,900 20,700
OFA~HESE 2,800
oz Fd 1,400,000& = 2CH 2,800
CE-FSC RN, 18,400
(OFSPIESESE D) 4,000,000& = 14 4,000
Odsd®En 3,000,000& * 2CH 6,000
oz Fd 1,400,000& = 6CH 8,400
OFAE+EHA 3,400
Od&EN(AY) 2,000,000& = 1CH 2,000
OXteld AT 700,000& * 2CH 1,400

FAHSREE2Y 62,800 63,320 A 520
301 gt 4= 10,800 11,520 AT20
09 HALAHIEA S 10,800 11,520 AT20

OFAEZSEREY NI SAA AHE24
10,0002 * 5IHA = 1 « 182 » 12& 10,800
307 glz2tol & 50,000 50,000 0
02 It M AHEE 50,000 50,000 0
OFAEZSEY 29| 10,000,000 = 50 & 50,000
402 RIZEX201 A 2,000 1,800 200
01 It =2 AL B X 2,000 1,800 200
OFAESEEY ZAPY 10,000& * 200& 2,000

SSEUMLEME =4 1,356,000 1,410,000 254,000
306 =93 1,356,000 1,410,000 254,000
01 &3 1,356,000 1,410,000 254,000

OFS=MHEEdMHE =
1,356,000,000& * 12 1,356,000

dEog At 5,000 2,500 2,500
307 gIz2t0l & 5,000 2,500 2,500
04 QIZFHALAIH B = 5,000 2,500 2,500

OoOddad A 5,000,000& = 13l 5,000

-0 ds020 3,500 3,500 0
307 21201 A 3,500 3,500 0
04 DIZHHALALSE E X 3,500 3,500 0




2N
X ZH -
L= B

el

EnEh
HAEAY
PSEE

5 - 4
SA BB (SH) - NRAY - B Ol At o %E& HRE2
Oz -5 -0 8S0&EwWa 3,500,000 13| 3,500
HAaUGLASHAE D 2,500 2,500 0
307 QI2t0| & 2,500 2,500 0
04 CIZ2tSHALALS B X 2,500 2,500 0
OFAELMEHAHD 2,500,000& 13| 2,500
ZAINKRE SFBD 3,500 3,500 0
307 212t0| & 3,500 3,500 0
04 SIZ2HSHAAISH E & 3,500 3,500 0
OZAIINRE SHHFMZ 3,500,000& 13| 3,500
=SAEE AIZES T2 2H 5,000 2,500 2,500
307 2iz2to| & 5,000 2,500 2,500
04 SIZ2ISHAAISE E & 5,000 2,500 2,500
Ox=sSANEZE AlglEgZ2)dH 29
,000,000& 13 5,000
HAUENSHHE O 5,000 3,000 2,000
307 2Iz2t0| & 5,000 3,000 2,000
04 SIZ2HSHAAISH E & 5,000 3,000 2,000
OFAEYSHHM T 5,000,000 13| 5,000
SSMAZ0 HEAE SAHOH & 17,010 17,010 0
307 2izto| A 17,010 17,010 0
04 QIZ2tSHAFAFS B X 17,010 17,010 0
OS2 MXZ0 HAESAILHA
17,010,000 13| 17,010
HENHE F344E & SHOIS=EM 13,400 13,400 0
307 2Iz2to| & 13,400 13,400 0
04 SIZ2HSHAAISH E & 13,400 13,400 0
OFEHE ALY 5 Stots=EA
13,400,000& 13| 13,400
M=dHAE ZTEZE =SHUZ 4,000 4,000 0
307 212t0| & 4,000 4,000 0
04 SIZ2ISHAAISH E X 4,000 4,000 0
OFAEZEE FHUI 4,000,000 13| 4,000
HAUE 23 ALIX NRES 7,000 5,000 2,000
307 2iz2tol A 7,000 5,000 2,000
04 QIZ2tSHAFALS B X 7,000 5,000 2,000
OFAHE 23, AZX NFES
3,500,000& 23] 7,000
OOl AtE SHOFIS 201013 8,000 0 8,000




254 M=2nx

B HAUAY

el HAUSY CERED
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2izto| A 8,000 0 8,000
04 QIZ2tSHALALS B = 8,000 0 8,000

OOIOI AL BIOIESZ DI (&4 & steq)
8,000,000& = 13l 8,000

X 8=2FHAYE 20 &0t 3,000 0 3,000
307 2iz2to| & 3,000 0 3,000
04 SIZ2ISHAAISH E & 3,000 0 3,000

O H2HAEL0E0HY
3,000,000& = 13| 3,000
HAEWE X 30,000 35,000 A5,000
== 10,000
Al 20,000
307 2Iz2t0| A 30,000 35,000 A5,000
= 10,000
Al 20,000
02 QIZHEAAIRE E X 30,000 35,000 A5,000
O=2H st AHE =25 0E
30,000,000& * 13 30,000
= 10,000
Al 20,000
HAEUANLE T2 2HI & 6,000 6,000 0
J| 3,000
Al 3,000
307 212t0| & 6,000 6,000 0
J| 3,000
Al 3,000
02 DIZFEAAIE E X 6,000 6,000 0
OFAYE £ T2 29 2 45 K& 6,000
OMEEHAERE & 2,000,000& = 13| 2,000
J] 1,000
Al 1,000
O A2 2,000,000& = 13| 2,000
J| 1,000
Al 1,000
OFAELAS 2,000,000& * 13| 2,000
Dl 1,000
Al 1,000
SSEHAESLHAALE HAEUXSZAF BIX XI& 68,366 65,018 3,348
J| 29,160
Al 39,206
307 QI2t0| ™ 68,366 65,018 3,348
J| 29,160
Al 39,206
02 A2t AMAIE E X 68,366 65,018 3,348




FAM: HENSDH
B HAEA
ool HAESA
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
OBSEAHFEHANE FAYUXE A BHXIXI&
19,440,000& * 3H 58,320
J| 29,160
Al 29,160
OZB3F3adHANE ELAUXEZA BEEE X
2 10,046
OI20UHZRES 72,9003 = 3Y¥ ~ 123 2,625
CENEEICE R
50,840& = 3" x 12& 1,831
CLEZEZRES 10,530& = 3% » 123 380
Ot ELEE S REES
9,720& = 3% » 123 350
O&AAHAZ 135,000& » 3H » 128 4,860
HFAad AL 2K 2 4,000 4,000
J| 2,000
Al 2,000
307 21201 A 4,000 4,000
J| 2,000
Al 2,000
02 QAFAAFEE 4,000 4,000
OFAEANLE 22335 24X&
2,000,000& = 20H A 4,000
J| 2,000
Al 2,000
FALERSE 29 & 70,000 70,000
= 28,000
< 12,600
Al 29,400
307 21201 A 70,000 70,000
= 28,000
< 12,600
Al 29,400
04 QIZFHALAIE B = 70,000 70,000
OFAHNSYNY SYX &
70,000,000& = 1JH A 70,000
= 28,000
< 12,600
Al 29,400
ANAE2EFHARAS 2 2,800 2,800
J| 1,400
Al 1,400
307 glz2+ol & 2,800 2,800
J| 1,400
Al 1,400
02 QIAHFAAHFEX 2,800 2,800
OXNdEA~Y F0RAS 29
2,800,000& * 1JH EHXl 2,800




254 M=2nx
B HAUAY
chelr HAESA CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
J| 1,400
Al 1,400
Ha4dE soielgs N 9,000 9,000 0
= 3,600
< 1,620
Al 3,780
307 2iz2to| A 9,000 9,000 0
= 3,600
< 1,620
Al 3,780
04 QIZ2tSHALALS B X 9,000 9,000 0
O¥AYHE Zol2lE&s XA
1,000,000& = 9J = ot 9,000
= 3,600
< 1,620
Al 3,780
AMNelUsE LAY S22 10,000 0 10,000
307 2iz2to| & 10,000 0 10,000
04 QIZ2tSHAFAFS B X 10,000 0 10,000
OAELIE HAYW &M 10,000,008 * 13 10,000
ELHAE KL HAY 15,000 0 15,000
307 QI2t0| & 15,000 0 15,000
04 CIZ2tSHALALS B = 15,000 0 15,000
O 2YAEALAYE XHZ2AHAAS
5,000,000& * 3JHCHA 15,000
HFEANEJAFAEASGZ2XALHAEH 2K 74,120 73,800 320
101 Q121 H] 62,040 63,360 A 1,320
04 JI2ZtHIZ22NEE S 62,040 63,360 AN 1,320
OMESXMHEH oAHY| 62,040
OHMEH & 2,500,000& = 14 » 12& 30,000
Oge(3a=) 1,400,000 * 1¥ = 12&€ 16,800
O8 & == (HESIHHl)
1,400,000 * 1H % 60% * 23l 1,680
OdHZ A 110,000& = 39 = 128 3,960
OAHEEAIE X 22 250,000& = 12& 3,000
OxU22E 8,500& * 20Al2F * 12& 2,040
OEzaxg 2 380,000& ~ 12€ 4,560
201 2ur2 Y| 11,080 8,640 2,440
01 AP 22| d| 6,480 6,480 0
oZz)d 29| 6,480,000& 6,480
02 2%l 4,600 2,160 2,440
022223 4,600,000 4,600




FAM: HENSDH
dM: HAEAMS
chelr HAESA CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
405 RHoHE S HI 1,000 1,800
02 = A=l 1,000 1,800
OWsIM ¢ 1,000,000 1,000
A B35 1,530,072 1,444,831
= 242,000
J| 504,806
= 175,554
Al 607,712
FAaE A BSMdY 35,000 35,000
307 21201 A 35,000 35,000
11T MISRASEX 35,000 35,000
OFALE HCESAS (HREHAMLARS])
23X 15,000,000& * 1JH A 15,000
OHAUES MY =& 10,000,000& * 200 A& 20,000
ANz HLAESEXNFAATRSE XA 171,000 166,000
J| 85,500
Al 85,500
101 @124l 50,140 50,140
J| 25,070
Al 25,070
04 JIZHHZ2XNSE S 50,140 50,140
OSEXNAMA AL (HALH) 50,140
ool (2Y) 32,400,000 32,400
J| 16,200
Al 16,200
OY&EFIHYI (2& 2,700,000 2,700
J| 1,350
Al 1,350
OFMZAH| (2Y 2,640,000 2,640
J| 1,320
Al 1,320
Oz=l2R22¢(2%) 4,080,000& 4,080
J| 2,040
Al 2,040
OEg&EANZEXH (1Y) 1,920,000 1,920
J| 960
Al 960
OEIXAYZ(2Y 2,700,000 2,700
J| 1,350
Al 1,350
O4HEEMSTUHREE S 3,700,000& 3,700
J| 1,850
Al 1,850
201 Let2d] 17,250 17,250
J| 8,625
Al 8,625




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 17,250 17,250 0
OFds 2L (HAUMH) 2,000,000 2,000
J| 1,000
Al 1,000
OZzY 2IYHI(HAHH) 12,250, 000& 12,250
J| 6,125
Al 6,125
OE=22 MU (HEHH) 3,000,000& 3,000
J| 1,500
Al 1,500
202 04l 11,500 9,000 2,500
J| 5,750
Al 5,750
01 = LH 4 Hi 11,500 9,000 2,500
OYRFX Ul (HAMEH) 11,500, 000& 11,500
J| 5,750
Al 5,750
301 et d = 6,610 6,610 0
J| 3,305
Al 3,305
01 Al EE E 563 1,110 1,110 0
ORINEAE 257X XS (HAMH)
736,000 736
J| 368
Al 368
ORJIE~HE o7 o HEXI(FAMH)
374,000 374
J| 187
Al 187
09 &AL HI B &S 5,500 5,500 0
OX2SALR AHEAZ(HAMH)
5,500,000 5,500
J| 2,750
Al 2,750
307 glz2+ol & 85,500 83,000 2,500
J| 42,750
Al 42,750
11T MISRASEX 85,500 83,000 2,500
O BAHSENEMARS(HFHH)
85,500,000& = 1JH A 85,500
J| 42,750
Al 42,750
2 = o3tolol 2E XA 464,000 424,800 39,200
= 232,000
< 69,600
Al 162,400
307 glz2tol & 464,000 424,800 39,200




Hsws
HAEAS
HAl 25 ool E )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 232,000
< 69,600
Al 162,400
11T M3 SXASEEX 464,000 424,800 39,200
ogun= otztdol &2 464,000,000 464,000
= 232,000
< 69,600
Al 162,400
HFAUEH2E XA 553,022 570,270 A1T,248
J| 276,511
< 82,954
Al 193,557
307 gl2tol & 553,022 570,270 A1T7,248
J| 276,511
< 82,954
Al 193,557
05 RIZHRIE 3 553,022 570,270 A17,248
ods2ddEH 29 X 553,022
OEJl #addEH 22 (15202 0/8H)
191,546,000 = 1002 191,546
J| 95,774
< 28,733
Al 67,039
Ol H#adadEH 22 (10~152 0/8H)
146,271,0002 * 1JH 2 146,271
J| 73,135
< 21,941
Al 51,195
OgA Eaddy 294
215,205,000& = 1002 215,205
J| 107,602
< 32,280
Al 75,323
Fad S Z2OYRA 81,050 54,073 26,977
J| 40,525
Al 40,525
307 glz2+ol & 81,050 54,073 26,977
J| 40,525
Al 40,525
02 HAFHAANFEX 81,050 54,073 26,977
O&HAY SEA 208 29
81,050,000& = 1JH A 81,050
J| 40,525
Al 40,525
FAaERoHSIZAE 29 20,000 25,520 A5,520
= 10,000
< 5,000
Al 5,000




2N
X ZH -
L= B

el =

A B8 a2 (3) - HRAY - BES Ol &+ o4 SSa HlmE2
307 glz2tol & 20,000 25,520 A5,520
= 10,000
< 5,000
Al 5,000
02 RIZFEA MM E X 20,000 25,520 25,520
OHAH RUSFAAS 29
5,000,000& = 404 Xl 20,000
i 10,000
= 5,000
Al 5,000
AN g 8 3249 XA 134,000 65,000 69,000
| 93,800
Al 40,200
101 124 dl 24,110 0 24,110
| 16,877
Al 7,233
04 JIZHHZ22XREES 24,110 0 24,110
OstW 8 HAHXE AL (HFAHH) 24,110
ooyl (1Y) 16,200, 000& 16,200
Il 11,340
Al 4,860
OZEEIHHI (1Y) 1,350,000 1,350
b 945
Al 405
OFHZAHI(1€) 1,320,000& 1,320
bl 924
Al 396
Oxzu22+4 (1Y) 2,040,000& 2,040
bl 1,428
Al 612
OEXNYZ(1Y) 1,350,000& 1,350
| 945
Al 405
O4iHEEMSTUREE S 1,850, 000& 1,850
| 1,295
Al 555
201 LEr2 Y| 38,690 0 38,690
| 27,083
Al 11,607
01 A2 221 H| 38,690 0 38,690
OME S (HAHMEH) 6,000,000 6,000
| 4,200
Al 1,800
OZEINY IHI(HEMH) 32,690,000& 32,690
| 22,883
Al 9,807
202 oddl 1,000 0 1,000




254 M=2nx
B HAUAY
t: 3A4dE B (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
J| 700
Al 300
01 2L Y| 1,000 0 1,000
O U (HKFHYH) 1,000,000 1,000
J| 700
Al 300
301 Bt A= 3,200 0 3,200
J| 2,240
Al 960
09 SHAIAHI EAZ 3,200 0 3,200
OKXNIESAA AHEAN(HRALMEH) 3,200,000 3,200
J| 2,240
Al 960
307 QI2t0| ™ 67,000 65,000 2,000
p] 46,900
Al 20,100
02 QI2tAAMAIE E =X 67,000 65,000 2,000
0% % HAGXA(BFHE)
67,000,000& * 1J0 2 67,000
J| 46,900
Al 20,100
SYEC(SnE) FAHNAAL(SH) 60,000 40,000 20,000
< 18,000
Al 42,000
101 Q1 24| 24,260 24,260 0
< 7,278
Al 16,982
04 JI2ZtHIZ22NEE S 24,260 24,260 0
Ostd=ct AWK QAL (BKHLEH) 24,260
OerAd(19) 17,400,000& 17,400
& 5,220
Al 12,180
OY&ESIHI (1Y) 1,450, 000& 1,450
o= 435
Al 1,015
OXZW2SLEH (1Y) 2,040,000 2,040
& 612
Al 1,428
OEIZXEZ (1Y) 1,450,000 1,450
o 435
Al 1,015
O4UEE AIEAEEZ2 1,920,000 1,920
& 576
Al 1,344
301 LBt A= 5,740 7,100 A 1,360
= 1,722
Al 4,018




FAM: HENSDH
B HAUAY
el EadE 8BS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MEIBEE 263 5,740 3,900 1,840
ozt FAUXE(HRHH) 5,740,000& 5,740
< 1,722
Al 4,018
307 21201 A 30,000 0 30,000
= 9,000
Al 21,000
02 It S AHE L 30,000 0 30,000
OosdEH FAUX(HFHH)
30,000,000& * 10024 30,000
< 9,000
Al 21,000
FLEHSEIFANY 29 12,000 14,168 22,168
J| 8,470
Al 3,530
301 LAz 12,000 14,168 22,168
J| 8,470
Al 3,530
01 Mel28E+06l= 12,000 14,168 22,168
OHELAEUELEXNIAANGE 2 12,000, 000& 12,000
J| 8,470
Al 3,530
HH2IAZH(MSRS) 37,288 29,768 7,520
Jl= &l 37,288 29,768 7,520
Jl=dl 37,288 29,768 7,520
201 Let24d] 14,168 12,728 1,440
01 At 22l 14,168 12,728 1,440
OJl2ge+d #sZ2H(01&24l)
7,112,000 7,112
os=gd(JIEZHl) 7,056,000 7,056
202 oddl 15,120 14,040 1,080
01 = LH 4 1l 15,120 14,040 1,080
OJIEZH 15,120,000& 15,120
203 YR =&t 3,000 3,000 0
04 EA2IYRFLH 3,000 3,000 0
O©JI & (15210138t) 250,000& ~ 123 3,000
405 XHoHF S HI 5,000 0 5,000
01 et ESFH S 5,000 0 5,000
Q= ADI 5,000,000& * 1CH 5,000




